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Along the x-axis, ¥ =9,
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For ¥ =lx+11 x-intercept:
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When m—2 4=|x+1|=2x+3

h V=25+3 will intersect ¥ =4~ ¥ +1

Grap at one point

No. of solution =1

6(iib) When m——1 4| x+1[=-x+3
Graph ¥ = ~**3 isequal to ¥ =4~ (x+1D
No. of solution = infinite
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Graph ¥ =™¥+3 have infinite number of solutions.
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= 990h




10(i)

;i{.n:i:-sz_r}:x{ 2sin 2.1'] Feos 2y
X

=—2xsin2xr+cos2x

10(ii)

I{—Exsin 2x+cos2x)dy=xcos2x+c¢

Ixsinix dx + _?ljmszx dy —% xcos2x+c)

| 1 |(sinz_q
xeos2xy——o+ +¢

2 27 20 2

|

2

f as "
xcos2x+ | 51n42_1] Fd

Ixsinlx dy =—
.l-xsinlr dx =

sinizxi;

F{rsinlx}m:—é [%]CDS[QX%]‘F T4

1
4

11(a)

¥+ 2x+p=0

SOR: @+f=-2 POR: &ff -1

X +gr+27=0
SOR @ +B'=-q¢  poR @B =27

rx"ﬁ" =27
(ap) =27
p =27

p=3




a'+p=—q

(@ +p)a’ —ap+p")=-q

(=2)[ (@ + By -3ap|=—q
(-2)((-2) -30))=-q
q=-10
11(b)
y
/ » X
12(i) 0=25-4¢"
A=16
17 =25-16e™
1S I
R
2
AT
20k =In| —




shown

12(ii) 1\
23=25-16| - |
V2

SN
LL 3
log, |
r_%g 3

L 3
20 -1

log N
2
=60

Duration = 60 — 20 = 40 minutes

12(iii) I “‘.nlu
| — o, (— — 0
h

2
50 6(—})25

Approaches / tends towards

J
for large values of 1.

12(iv)

S | S ) g ) R R U I




